
A B a b c d e f

h i

Dining Table

ASSEMBLY INSTRUCTION

M8        x8M6x60    x8 M8x60     x4

x1

M8           x8 M8            x8M8x140   x8

x1 M6x60    x1

Spear Parts Spear Parts Spear Parts Spear Parts Spear Parts Spear Parts

M8x60     x1 M8x140  x1 M8           x1 M8           x1 M8           x1

Spear Parts

30x30      x4

Step 1 (same for each leg)

b
c

e f
d

h

Step 2  (same for each leg)

a a

i

Top                              x1 Legs       x4


